
1) 34.2 + 31.8

Answer: ____________

2) Find area of square 
having each side (s)
equals 13 ft

Answer: ____________

3) 12/4 x 10/9

Answer: ____________

4) Simplify 15:1

Answer: ____________

5) (-3) x 19

Answer: ____________

6) A number was shared in the ratio 1:4. 
The smaller share was 38. What was 
the larger amount?

Answer: ____________

7) Round 14.45996097 to 7 significant 
figures.

Answer: ____________

8) 182 - 7 - 5

Answer: ____________

9)
20 Find Volume of 
               19       Cylinder

Answer: ____________

10) 42 - (-5)

Answer: ____________

11) 2/1 + 18/4

Answer: ____________

12) Find the mean of the following set of data:

3, 17, 20, 12, 1

Answer: ____________

13) Round 26.8 to the nearest 1000

Answer: ____________

14) Round 26.8 to the nearest 1000

Answer: ____________

15) 69 - 57

Answer: ____________
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16) Find area of 
triangle 
a = 55 cm, b = 96 
cm

Answer: ____________

17) 27/8 ÷ 45/6

Answer: ____________

18)
20

Volume of Cone
20

Answer: ____________

19) 22/6 x 14/5

Answer: ____________

20) Find the mean of the following set of data:

8, 0, 15, 13, 9, 0

Answer: ____________

Total: ___ / 20
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Answers:

1) 66 2) 169ft 3) 31/3 4) 15 : 1 5) 6) 152 7) 14.45996

8) 312 9) 22682.298958918 10) 47 11) 61/2 12) 10.6 13) 26.8 14) 26.8

15) 12 16) 1309.863423224cm 17) 69/116 18) 8377.5804095728 19) 41/5 20) 7.5
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